| Efficiency vs Dxy |

0.5
X
©
.45
>
20.4
D
.35
0.3
0.25
0.2
0.15

eff

..................................

0.1+

0.05

.........................................

..............................

..............................

o+

Rati

=
!

0.95

)

0-15-10 =50 5 10 15 20 25

TP dxy (cm)

| Efficiency vs Dz |

—=— DQM_V0001_R000000001__Global _mkFit_baselinel
—— DQM_V0001_R000000001__Global__mkFit_batchl

N 0.2
o

3 Y| S SRR SISO SO
S [
.é_?.16:— ------------------------------------------
[&] L
) 7] ASSSRRRNS SERRR S S
()] L

0.12F b

0.1~

.........................................

2030
TP dz (cm)

10




	Contents
	Page 1


